=mMAER JFA U-188Yy Hh—U—OTU>U—52024 (ME] BRIRS>F>H
YEREH : 202445A118(t)

[=Fiva K& F—L% || E5t|[m1en| 2| s36| seaun| oun| S| 55780 5e| S508n| #1085 5118 551267 551385 58148 55158 168 #1785 8188
1 I mp=y N A= Tiihva 10 O 3 3 0 0 4
2 R# B AFgisth | 8| 3| 1] 0] 1] 1|2
3 K% Etét FCSA 5 0 2 0 1 1 1
3 AT g801 AT X| 5 1 0 4
3 oK 155K A= Tiihva 5 0 0 1 1 1 2
6 FHRE (UEXSINAE| 4 1] 0| 1[1]0]1
6 A1t B BHZEE)I| 4 2 0 2 0 0 0
8 B R FCSia 3lo|J1]1]1]o0]foO
8 i Bt NI —L| 3 1 0 1 0 0 1
8 N i AFaimm || 3 2 0f[0] 0] 0|1
8 T R AFai=m | 3 0l 20| 0] 0|1
8 KH B8k BRER 31]1]1]J0]o0fo0
8 =10 st JAITAX| 3 1 0 2 0 0 0
8 FEER IBAFE=EN| 321 0]1]0]0foO0
15 H)1 RzE mEXE/IE| 2 0 0 2 0 0
15 ®BLC AFaiEh || 2 1 1 0 0 0 0
15 B #EE TJAITAX| 2 1 0 1 0 0 0
15 KEHE—B 1JAIILFToX| 2 0 1 0 0 1
15 = iy A= Tiihv 2 0 1 0 1 0 0
15 FER BIEFC 2 0 2 0 0 0 0
15 SR B BIRFC 2 0 0 2
15 SR B BIEFC 211 0fo0oflo0]oO
15 B & BIRFC 2 1 0 0 1 0 0
15 BRKEEF BIEFC 2 0 0 0 0 1 1
25 =% ] NI —L| 1 0 0 0 0 1 0
25 HH B HWNYIN—L| 1 1 0 0 0
25 s BiE RFRIEn 1 0 1 0 0 0 0
25 =14 BB HRER 1 1 0 0 0 0
25 L BFR HRER 1 0 1 0 0 0 0
25 Thi— 1B& JAILFTaX| 1 0 0 1 0 0 0
25 K % JAIT4X| 1 0 0 0 0 0 1
25 BHEHEIL [ TAILTAZ| 1 0 0 1 0
25 TRE Bt A =Ty hva 1 0 0 1 0 0 0
25 Wi &K AT TV 1jojlof1foflo0]oO
25 HE B8 A =1y hva 1 0 0 0 0 1 0
25 =)l g BETiz 1fojof1]o0
25 Kz 73 BYIEFC 1 0 0 0 0 0 1
25 IhNE B{C BIEFC 1 0 0 0 1 0
25 Fa 5% Bi7EEdt 1 0 0 0 1 0 0
25 Bk K& ByEsik)| 10|l 10| 0]0]|O
25 250 KM Bi7EEdL 1 0 0 0 0 1 0
25 EEBR] I EBHFESN| 1) o] 0of[o0o|0]| 0] 1
25 tH £ BHZE=E| 1 1 0 0 0 0 0
25 BEEEX (BHFE=EIN| 1| o|[o0o|o0]|1[0]O0

A/it||102| 20| 18( 26| 11| 9 (18| 0| 0O | O | O | O|O|[O]O|O|[O|O]| O




